772
14

119

45
55
239

123
165

=
T aNn ! NPT D

=

540

436
13
10

56,755
330
310

20

11,002
880
70
6,875
250

1,558

1,369

1,258
150
30

712

202

39,201

80

82
37,403
764
385

80

56,897
329
312

17

9,347

6,753

1118
55
30

710

194

41,579

58

112
40,035
679
370

65

21,250

110
106

500

75
10
11
35

32

= o1 o

8,569

79

20
7,402
286
204

32

359

[E=Y

I N1 oOON 1

20,077

18,197
66
49

17

470
374

17,474

56
17,305

15

4,272

17
13

409
103

60

144

43
35
20

234
121
155

31

[N
I OO NP PWIL

| B o |

9,126
470
70
6,775
250

1,558

1,058

30

712

152

21,376

80

42
19,885
764
385

50

24,105

58

56
22,730
679
370

50

16,976

gl o

4973

79

12
4,125
286
204

23




Ow>

I 1 =1

w
NP I P OORRPEPWI

RN

I PO, O0O1NO

11

48

@ > I SN |

12

16

12

160

140

3,468

2,365
140
335
549

397
140

3,390

2,349
129
335
512

322
80
79
25

117

12
88
193
16
50

145
19

13

w w |

1,699
112
1,217
41
143
164
10

11

N w ol

163

421

I =1 1

I Pl PRI PWI

RPN I PN

I PO, O0O1TNO

11

25

DO NN I

3,368

2,365
110
335
479

397
140

3,300
2,349

335
452

322
80
79
25

117

1,648
92
1,217
31
143
144
10

11

N w ol

163

421




